0.035
N

Power cable gland Ex db Ex fho
@10-@16 + clamping module

-
ol 2 =
o
2 e e el e e g ca cquse oo =
el —
© @ S|
2.5 | 8 \
L x 5.8 on @75
070 2340.6 L Max 35 Max \
Sensor rable gland Ex db Ex fh :
@10-@16 + clamping module
- IP Motor 1P6k P65
WITH KEY SHAFT END WEIGHT BRAKE
1 Protection| 11 2 G Ex db 11B Th Gb IP6E ez 3 B AT ol
Me x 10 Supply voltage : 24V = 0% x fb 1L Ob IP65
Static torque » IEC/EN 60079-0 : w [EC/EN B00T9-0 -
Explosive atmospheres. Explosive atmospheres.
Part 0 : Equipment Part 0 - Euu!umem
W ithout brake| With brake EX310 General reguirements. General requirements.
' ! I, ° « IEC/EN 60079-1 : » [EC/EN 600T9-1 :
E- - 2.8 k 1.2 k ot Eshhm [Explosive atmospheres. Explosive atmospheres.
. g > g 1 ﬂu( 1.8 - Part 1 : Equipment protection Part 1 : Equipment protection
0 .B Nm i Standards |by flameproof enclosures “d”. by flameproof enclosures “d”.
Certification : » |EC/EN 40079-31
3.5 16 Explosive atmospheres.
INERIS 03ATEX0060X Pari 31 : Equi dust igniti
I INE 15.0060% prolection by enclosare 1
l23:!:[},|f:
MENSION EA3 BE..Bi
[ o ,
. - . ||Mwinding 1 1P
Feedback option Resolver Encoder ‘ Resolver Hiperface Hiperface Low cost Sensorless P&k
(feedhack letter]  |ratio 0.5 (A)| CR&10 (E) |ratio 0.3 (G}| SKS36 (R) | SKM36 (S) | encoder (X) () Im"'p"-”“"’ on length)'} {depernis on i‘mml l o i§§5
Brak s
withaut brake |, 275 A - Resolver - ratio 0.5 2 : Withou! brake | naft '
(mm) E : Encoder CR&10 5 With brake 0 : Plain shaft
g G : Resolver - ratio 0.3 1: With key
2 R : Hiperface singleturn SKS36
; L S : Hiperface multiturn SKM3&
with brake (mm) 25 X : Low cost encoder
Y - Sensorless
|CONNECTIONS VARIANT ON SHEET 2/2 |
= Sheef : 1/2
: F |
M5ess Generat  Pesse| 1709009 | 00 | vise |gpp 77t )0 igfr -39 £X300 e TFTETS |5
folerances (e | [AM 24108 22/04/13 SO ~ Ectelle A3 X
OIN IS0 E| B |AM 23600 27/04/11 YG E [aM 24677 27,/06/17 TD 4 Bd Eitfel. 5 40090
= 4:5 Lo E
2768 mK |2 A [AM 23304 10/12/09 SD D [AM 24578 22/07/16 SO St | OUTLINE DRAW ING L4487

vV




Sensorless tonnection

Hi

U : Phase U
Y : Phase V
U : Phase U W : Phase W
V ; Phase V TH- : Thermic protector
W : Phase W TH+ : Thermic protector
TH- ; Thermic protector BR- : Brake- (option)
TH+ ; Thermic protector BR+ : Brake+ (option)
BR- : Brake- (option) 1 : Encoder Us
BR+ : Brake« (option) Cartification : 2 ; Encoder gnd
S1 : Resolver 1 v mEthNsE %Agggcgfsox 3 : Encoder refSIN
52 : Resolver 2 ’ 4 : Encoder ref(0S
53 . Resolver 1 5 : Encoder DATA -
Sk . Resolver & 6 : Encoder DATA -
R1 : Resolver 5 R 7 : Encoder +SIN
R2 : Resolver 6 52 g3 Sk SEALE = 342 8 : Encoder +COS 0
B : Shield option (screw M3) o1 = C0S « | S2 = Sin + |R1 = Exitation . 8 : Shield option (screw M3) PEISIN: pefC0S
S3 = Cos - | Sk = Sin - |R2 = Exitation -
@: Ground Rotor is rotating in clockwise viewed from shall end view. @: Ground SCALE : 372
ENCODER SETTINGS

Resolver sefting Hiperface SKS/SKM sefling
Feedback leffer : Y Eeedback lefter - A/E/G Feedhark Letler ; R/S
Moftor powered by direct Motor powered by direct
U Phase U B turrent af the current turrent at the current
Y . Phase V nominal value (W« and V-). nominal value (W+ and V-}.
' The shift is 90" electrical. Value in encoder memary is
W : Phase W 205.
TH- : Thermic profector ow { encoder seftin
TH+ : Thermic protector TH- r X
i " Engine driven clockwise
BR- : Brake- (optiom TH- shaft end side. Swifching
BR+ : Brakes (opfion) signal V Figh'rnm?hase with
1: A z
2 2 AN U : Phase U
3:8B ) V : Phase V \
4o Bx W : Phase W
i TH- : Thermic protector
b N TH+ : Thermic protector 7234 o1°®
7.0 BR- - Brake- (option) 010209349508
B : Voo AV g By BR+ : Brake+ (option) SCALE : 372
B : Snield option (screw M3 SCALE : 3.2 B : Shield option (screw M3)
@: Ground @: Ground
- ; e Sheef : 2/2
MiEsa General  PPessine| 1170909 | 00 |‘.|'Esa |l}/6] /4’;—[)9 |ﬁ —3-@- EX300 Format | F |E | S |G
tolerances = | [am 24108 22404413 SO _~ Erhelle A3 §
it DIN SO |E|B [AM 23600 27/04/11 YG E [am 24677 2720817 TO O ——
= FRreET z 10 ; E
I dmass | 2768 ™K 18 1 Tam 23304 10/12/09 SD D |aM 24578 22/07/16 SD 3 e | QUTLINE DRAW ING 344487

Vv

WV




24
[ na— round screw MS MB x 18
CRAT
—nl_. ___ _-__,_.-'-‘—
&
=
[4] i 8
=] =]
R - N I E N I 1 -1 s 3
® = I -l
L=t
3 H
-
sl
q — X
Tom— e
J \-p' 35 14
ensor cable gland Ex db Ex th : ower rcable gland Ex db Ex fb . 5040.6 L Max
@10-@16 - tlamping module @10-@16 + clamping module
WITH KEY 1] IP Motor P64 P65
| WEIGHT RAK Protection 1126 Exdo 118 T4 Gb IPB4 ”EE 15{? |EIT[EUT1I3!33'[“[.JL‘E?PE§5
M8 x 18 - Supply volfage : 24V —== +10% = [EC/EN 60079-0 - x IEC/EN 60079-0 :
= Stafic torgue Explosive atmospheres. Explosive atmospheres.
Part O : Egui 1 Part 0 : Equi i
id] Motor |W ithout brake W ith brake azﬂml mﬁﬂiﬁfﬂfsnrs. EZEM reﬁﬂl-ﬁ?rﬁgms_
‘E IEEI S G i — = EX620 EX630 I EC = |EC/EN 60079-1 : = IEC/EN 60079-1 -
1 I Explosive atmospheres. Explosive atmospheres.
1 o 10 Kg 11 Ko z { ] Part 1 : Equipment protection Part 1 : Eguipment prefection
i 20 12 N.m 12 N.m Standards |by flameproof enclosures “d*. by flameproof enclosures “d”.
Certification : = IEC/EN 60079-31 :
i L0 2182 a 12.5 Kg 15 Kg 100 °C 8 N.m 8 N.m INERIS OLATEXO03IZX Exuku‘ssgve g?m_usuheres.
| . " ar + Equipment dust igmitien
= E INE 15.0060X protection by enclosure 'r'u. b
5040.6
DIMENSIONS T_E T-_:TEX
[ Torgue range 1| winging | '_iﬁ
) : ) I ) (depends on length) | (depends on speed) 0 : IP64
Feedoack DD“G’E RESMUEI' Rleiﬂlrel' Low Cos! Sensoriess Hiper face Hiperrace Hiperface Hiperface Endar Endar 1 7 |p65
[feedhack Letier] [ralia 0.5 (A)|ratio 0.3 (G} | encoder (X) i SKEJ6 (| Shae S | SResoh | SRSt |Eck 1 oo ey T8 () [ Feedhack 1 T Brake | ‘
A : Resolver - ratio 0.5 7 . Without brake ™ Spar Sﬂaft_|
W ithout brake|L {mm) 275 305 325 G : Resolver - ratio 0.3 5 . With brake 0 = Plain shaft
5 R : Hiperface singlefurn SKS36 v
3 _|S_ : Hiperfrace muttiturn Sggé?n T: With key
“owi m 0 330 50 . Hiperfate singleturn
WL (R " ! : U : Hiperface multiturn SRMS0
V : Endat singL_EIurn ECH 1113
W itnout trake|L (mm) 300 330 350 W . Endat multiturn EQN 1125
2 ¥ 3 I§w :aLsr encoder
: Sensoriess
= wit brake |1 6o 5 3 s IEONNE[TIUNS VARIANTS ON SHEET 2/7 |
= Sheet : 1/2
Masse Ganiaral [Dessine| 07,1009 l SD I\rise l{?}é)m LJJ? I:ﬁ i —EE'@ EXé OO Format | F [E [S |G | |
folerances [ Tc [aM 24229 03/12/13 AH A Echelle m A3 %
OIN 150 E|B |AM 26108 22/04,13 SD E |AM 24477 27,0417 TO B4 Ei "
] 1: & Bd Eiffel. L5 LOOSD
2768 mK 18 [ TaM 23304 10712709 SD D [AM 24578 22/07/16 SD Z | e ioic caix OUTLINE DRAW ING 344550 E

WV




A AN
Resolver connection ) on
Feedback leffer : A/G Feedback letter . R/S/T/U

U : Phase U
V : Phase V

U : Phase U W : Phase W

W . Phase V TH- : Thermic protector

W : Phase W TH+ : Thermic protector

TH- : Thermic protector BR- : Brake - (option)

TH+ : Thermic protector BR+ : Brake + (option) "W

BR- : Brake - (option) 1: Encoder Us rellOs

BR+ : Brake + loption) Z : Encoder gnd Data -

51 : Resolver 1 Certification : 2 :

RE olv : INERIS OLATEX0032X 3 : Encoder refSIN Data

52 : Resolver INE 15.0060% 4 ¢ Encoder refCDS

53 : Resolver 3 5 : Encoder Data +

Sk : Resolver & .24 6 : Encoder Dafa -

R1 : Resolver 5 T : Encoder + SIN

EE_ZSE_ESL[;“E"',E’ t vy | 51=Cos + |52 - Sin .+ [R1 - Exitation - 8 : Encoder + COS

: Shield option (screw S3 - Cos - | S = Sin - |RZ = Exitation - B : Shield option (screw M&)
@: Ground Rator is rotating in clockwise viewed from shaft end wiew. @: Ground Stale ; 2/3

Endat conpection

U : Phase U L
Ve pnif-.z v Feedhack letter - V/W
W : Phase W

TH- : Thermic protectar
TH+ : Thermic protecfor
BR- : Brake - (opfion)

BR+ : Brake + (option)

U : Phase U
V : Phase V
W : Phase W

TH- : Thermic profector
TH+ & Thermic protector

Low rost encoder connection
Feedback letter : X

1 : Encoder Up 5V +5% BR- : Brake - {opfion)
2 : Encoder OV BR+ : Brake « {(opfion)
3 : Encoder A + 1:A 9:U
L : Encoder A - e, 2: M 10 : UN U : Phase U
5 : Encoder B + . i: B Mn:v V ; Phase V
& : Encoder B - i Lo BN 12 : W W : Phase W
7 : Encoder DATA S ! w TH- : Thermic protector
8 : Encoder DATAN 64 TN 1% 2 WA TH+ : Thermic protector
9 : Encoder CLOCK T:0 BR- : Brake - (option)
10 : Encoder CLOCKS 8 : Ve BR+ : Brake + foption)
B : Shield option [screw M4) B - Shield option (screw ML) B : Shield option (screw M&)
@: Ground 243 @-} Ground Scale : 2/3 |@ Ground Scale : 2/3
i 1711
Resolver setting iperf SSK ttin Hiperface SRS/SRM setting Logdat setting Low cost encoder setting
Feedback Leller ; A/G Feedhack letter . RB/S Feedback lefter - 1/U Fepdhack letter : VoW Feedback letter : X
Motor powered by direct Motor powered by direc! Motor powered by direct Motor powered by direct Engine driven clockwise
current at the current current al the current current at the current current ar the currenf shaft end side. Switching
nominal vatue (W+ and V-). nominal value (We and V-). nominal value (W« and V-J. nominal value (W« and V-J. signal V is in phase with FEM
The shift is 90° electrical. Value in encoder memory is 205. Value in encoder memory is 1638. Value in encoder memory is 410. uv.
= Sheet - 2/7
i - Format | F |E [ S |G | |
Mg cenera.  Pessine] 07710209 | 5o | vise |00 1777 ]J_p_b‘@; —-3-@ EX600 E
tolerances [l faM 24229 03/12/13 AH / Echelle A3 x | X |
Din 1so |2]B [aM 24108 220613 SD E|AM 24677 297046717 TD R —— =
= 1.2 ViC E
2768 mK 18 'y [am 23306 10/12/09 SD D [AM 24578 22/07/16 SO wcieea® | OUTLINE DRAW ING 344550

vV




AN AN
[ 0.035 03:0:6 T To.ce
sraund screw M9x12 | ©|¢0‘08
|
|
T — |
| o B
|
|
e
o = = ==
2 2 Ht=fr—e—pee—s R i S
2 I H
|2
3l |
! [ = -
Power cable gland Ex db Ex fb : 3 10.5
@10-@16 « clamping module i
\—Sensor cable gland Ex db Ex th :
@7-@12 - clamping modute 4040.6 L Max 35 Max
TH KF IP Motor P&k P85
T " WEIGHT BRAKE Pratection| 11 2 G Ex db 118 T4 Gb IP6L W Ei0) e B U T st s
Supply volfage : 26Y === x10% = IEC/EN 60079-0 = IEC/EN 60079-0 ;
M& x 16 Static torgue Exulo%iweEarrr_losuh?res. Exu#u%]veEatmusnhtl'res.
" art : LIpmen ar 3 uipmen
Motor [wWithout brake W ith brake = S General reguifemems_ Genaral regulfemems.
E____ i A gt e (o & 7 g 8 Kg « |EC/EN 60079-1 ; « [EC/EN £0079-1 -
x® 20T 5.5 N.m 5.5 N.m Explosive atmospheres. Explosive atmospheres.
Z| Part 1: Equipment profection Part 1. Equipment protertion
L 21‘5-3 ” o E 8 Kg 3 Kg 100°C L& N.m L& N.m Standards |by flameproof enclosures “d”. by Flameproof enclosures "d”.
- o Certification : » IEC/EN 60079-31 -
L P INERIS O4LATEX0097X Explosive atmospheres.
| | INE 15.0060% Part 31 : Equipment dust ignition
i profection Dy enclosure “I°,
. XL B
[ Toraue range 1|l winding | L
- - - i {depends on length) | (depends on speed) 0 1 IP64
Feedbatk options Resolver Hesolver Low Cost Sensorless Hiperface Hiperface Hiperface Hiparface 1. |P&S
(Feedbatk Letter] |ratio 0.5 (A} |ratin 0.3 (G) | encoder (X) Ikl SKS38 (R) | SKM36 (Sh | SRSS0 (T) | SRMSO (U) | Feedback I Brake ]
- A : Resolver - ratio 0.5 2 : Without brake [ gpafr |
Without brake |L (mm) 265 285 305 G : Resolver - ratio 0.3 5 : With brake 0 - Plain shaft
8 R : Hiperface singleturn SKS36 1: With key
= S . Hiperface multiturn SKM36
With brake |L (mm} 90 0 EE T : Hiperface singleturn SRSS0
U : Hiperface mulfiturn SRM50
; ¥ : Low cost encoder
% Withou! brake (L (mm] 290 10 B Y : Sensorless
- 1
s
| with brake |L tnm) 315 EES 155 ‘EDNNEE-HDNS VAR|ANTS DN SHEET 2/2 |
= Sheet - 1/2
i | Format | F [ E | S | G | |
— conera. Pessie| 29,0709 | 0 | vie [o9b3k3 Do | 29 =39 EXLO0
folerances | u ([ (AM 24229 03/12/13 AH T Echelle A3 X
OIN IS0 Z|B |AM 24108 22/06,13 SD E |AM 24677 27/04717 TD 4 B Eilfel. C5 40090
= 1.2 e E
2768 mK |5 [7[aM 23304 10/12/09 SD D [AM 24578 22/07/16 SD HRN AL LE OUTLINE DRAW ING 344619

vV




Resolver Lonnecrion Hiperface connection
Feedback LeHeBr‘ . A/G Feedhack letter : R/S/T/ZU

U : Phase U

¥ : Phase V B8
U : Phase U W : Phase W
V . Phase V TH- : Thermic protector
W : Phase W

THe : Thermic protector

TH- : Thermic protectar BR- : Brake - {option)

TH+ : Thermic pratectar BR+ : Brake + {option)

BR- : Brake - (option) 1 : Encoder Us
BR+ : Brake « (option) P 2 : Encoder gnd
” Cerfification :
%1 : Resolver 1 W INERIS O4ATEXOO9TX 3 : Encoder refSIN
INE 15.0060%
52 : Resolver 2 & Encoder refC0S v
S3 : Resolver 3 5 : Encoder Data -+
Sk : Resolver & & : Encoder Data -
R1 : Resolver 5 i 7 . Encoder +SIN
R2 : Resolver & S2 gy Sk SCALE: 322 8 : Encoder +COS
B . Shield option tscrew M3)| S1 = Cos «+ S2 = Sin + |R1 = Exitation - B : Shield option (screw M3) gnd relSIN refC0S
. Ground 53 = Cos - | S& = Sin - |R2 = Exitation - re SCALE : 3/2
@' Retar is rotating in clockwise viewed from shaft end view. @: Ground
ENCODER SETTINGS
Low cost encoder connection F” EHS T T'Y” _ fealver st Higerace S0 sgiting
. back letter - A Eeednack (efter : B/S
Eeedhark lefter : X eedback lefter :
: H Motor powered by direct
U : Phase U B H?ur.?:g.fru 'ﬁr?ﬁengusrlgﬁfr current at the cwen?
v . Ph v B nominal value (W~ and ¥-I. nominal value (W and V-).
¢ Fhase The shift is 90* electrical. Value in encoder memory is
W : Phase W s
TH- : Thermic protecfor ipert i Low tost encoder setting
- ’ " Eeedback letter . TAJ Eeedback lefier - X
THe : Thermic protecior
it Hotor powered by direct Engine driven clockwise
BR- : Brake - {opfion) cuerent at the current sna?rl end Is“iue. Swircrzinq
. nominal value (w- and V-1, signal ¥V is in phase with
BR+ : Brake + loption) FEM LY.

Walue in encoder memary is
Y 1638,

20 AN U : Phase U
I:B v V : Phase V v
b BN W : Phase W
5:7 TH- : Thermic profector
AN TH+ : Thermic protector U
T 0 BR~ : Brake - (opfion)
B : Ve AN B B BR« : Brake « (opfion)
B . Shield opfion (screw M3) SCALE : 32 | g . Shield option (screw M3) Seale = 3/2
@: Ground @: Ground
= Sheet : 2/2
— generar Pessie] 2907/09 [ 50 Jwwe Yoy S [ 27 |-E3-@ EXL00 Formal | F | E [ S |G ||
== tolerances e|c |aM 24229 0371213 AH / Echelle A3 X

e L) SRR | gy ogsp [E] 8 [am 24108 22,0613 SD E |aM 26677 27/0L/17 TD ; R —— Q

2768 mK 12 [ [am 23304 10/12/05 SO D |amM 26578 22/07/16 SD 1:2 21l BN (RN OUTLINE DRAW ING 344615 E

V




A AN
Power cable gland Ex db Ex fb :
@10-@16 + clamping module
Sensor cable gland Ex db Ex th . 040.6 .
@10-@1% + clamping module A = 21
ol v B
/3}'0 3 @0 1 E -
— |—— Uy
[ L >
i
R, R 5! —__i_- =
Uy
o
o
[(Fg)
S | IS4 T - RO 1 =V
o 8 s
2 L,
O
5
=
° ——
I e ————
e 3.5 | 12
ifting eye bolt @20 5840.6 ' L Max 36 Max
Wl KEY | SHAFT ENO W EIGHT BRAKE IP Mator IPAL P65
] " Il 2 G0 Ex do 1IB T4 Gb IP&S
SUIJIJILY voltage : 24V — 110% Protection Il 2 6 Ex db IIB Tk Gb P64 Ex tb 11IC T35°C Ob 1R85
M12 x 28 |\lotor|w ithout brake W ith brake| || Sfatic forgue « [EC/EN 600790 : + IEC/EN 600790 -
Explosive atmospheres. Explosive atmospheres.
> 2 Part O : Equipment Part 0 : Equipment
= g 22 kg 25 kg EXB20 ExBLO | EXB&O — General reguirements. General requirements.
e pm———— i b a = |EC/EN 60079-1: = |EC/EN 60079-1 :
E 3 i & 20°C 36 Nm | 36 Nm | 36 Nm ’ECEX E!nguirveEatmusuheres lEj:u:llnii\feEﬂFl_mJSI:lhEr‘es-r .
- = Par uipment protection art 1 : Equipment protection
" 50 35920 g 28 k0 g 100°C 32 Nm | 32 Nm | 32 Nm § |Standards |by ﬁamenrgnfwgntlnsuures “d* Ly ﬂameprg:lu Enl:lusuures "d'.
2 e 2 = |EC/EN 60079-11 :
- 38 kg 41 kg Cerfification : Explosive atmospheres.
= INERIS OSATEX0081X Par: 3'1 Equ:pmenr dust rlgn!rlun
58406 Y} INE 15.0060X profection by enclosure
|
[DIMENSIONS |
| | — FXB 0F BT
Feedback option Resolver Low cost Sensorless | Hiperface Hiper Face Hiper face Hiperface Endat Endat
(feedhack lefter) |ratio 0.5 (41| encocer (x) | (1) SKS3 R) | SKM36 (5) | SRSSO (1) | SRMSO () |ECN #113 () [EQN 1125 (W) [Torque range J W I l_l_l
= L (depends on length! {depends on speed) 1P
= without brake tmm) 290 310 325 I = k | 0 : IPaL
o Eeedhack e 1: IP&S
= . L A - Resolver - ratio 0.5 Brake
| WORIRE o = A i G : Resolver - rafio 0.3 2. Without brake | snart |
1 E | Hmerfral:e 5|ngleturnSSK5336 5 . With brake 0 : Plain shaft
i 350 370 185 : Hiperface multiturn SKM36 ’ . Wi
g |Without Deare | omy T : Hiperface singleturn SRSS0 Ke WHLSRY
= ) L U : Hiperface multiturn SRMS0
i with trake | oo, 385 405 420 V : Endat singleturn ECN 1113
L XW :LEnI:IaI' Tr;ulfifuan EQN #1125
: . Low cost enceder
% without brake i) A1 430 443 Y : Sensorless
< . L
3 T s s [CONNECTIONS VARIANT ON SHEET 2/2
- Sheef . 1/2
& " E
cenera. Pessie] w0909 | 00 [vise 05 /70 [22A -39 EX800 Formal | F |E S |61
folerances o [aM 26607 26/06/16 SD Echelle A3
oIN 1so |E]B |AM 24108 22/06/13 SD &Bd Eiffel. €S 40090
2768 mK |8 3 TaM 23304 10/12/09 SO D [AM 24677 2770417 TD 2:5 #1605 LONGVIC TEREX 0 UTL | NE D RAW | NG 31*/‘* 664 0

Vv




A FAY
. U : Phase U
R . : Y : Ph V [ 0 0
P . Phase | o
U : Phase U t _ Feedback letter : R/S/T/U
W : Phase W
¥ : Phase V
TH- : Thermic protector
. 0 '

W : Phase W TH+ : Thermic pretecrar
TH- : Thermic protector BR- : Brake- (oniion)
TH+ : Thermic protector BR+ : Brake- loption)
BR- : Brake- (option) 1 Enteder Us
BR- : Brake- (option) 2 : Encodé grit refSIN
g p . Certificarion : ) ralf0s
51+ Resolver 1 INERIS OSATEXQ061X 3 : Encoder refSIN i
52 : Resolver 2 INE 15.0060X 4 : Encoder refCOS

Data -
53 : Resolver 3 5 : Encoder DATA -
5S4 . Resolver & 1 23 6 : Encoder DATA -
R1 : Resolver 5 7 : Encoder +SIN
R2 : Resolver 6 8 : Enceder +CO0S

B . Shield option (screw ML) ot = C05 « | 52 = Sf” + |R1= EXI_rafllol'I & B : Shield optian (strew M&) i .
S3 = Cos - | 84 = Sin - |R2 = Exitation - Scale : 273
@‘)l Ground Rofor is rolaling in clockwise viewed from shaft end view. @ Ground
: 3 U : Phase U ¥ '
ey Endat connection P—— tion Sensorless connection
 Phase : ’ ter : X Feedback lefter : Y
| v Eeedback: letter o VAW | oo
TH- : Thermic profecfor TH- : Thermic profector
Tt = Thermic: pratecion TH+ - Thermic protectar
R- : Brake- (opti
8 i fun] BR- : Brake- loption)
BR+ : Brake+ (optien) .
1: Encoder ug 5V 5% BR+ : Brakes (option)
. [ T3 & 9:U
2 : Encoder OV U : Phase U
3 : Encoder A 20 AN 10 - Uy v i
L+ Encoder A- 1. B "oy : Phase
5 : Encoder B L o: BN 12 + ¥\ W : Phase W
6 : Encoder B- 5.7 3w TH- : Thermic protector
7 : Encoder Data 6. I\ WA TH+ : Thermic profectar
8 : Encoder Data\ 7.0 BR- : Brake- (option
9 : Encoder Clock ) BR Brake« (ontion
10 : Encoder Clock 8 ¢ Vrc PREAEIEIAS _OD e
B : Shield ogtion [screw MA) B : Shield option (strew Ma) 23 B . Snield opfion (screw M) Scale « 273
@ Ground Scale : 2/ @ Ground gl @ Ground
EN ER SETTINGS
Besolver satting Hiperfare SKS/SKM setting Hiperfare SRS/SBM setting i w t r
F k letter . A/l - tter - R/ Feedback letter . 1/U E tter . Y/ E ter . X
Motor powered by direct Motor powered by direct Mator powered by direct Motor powered by direct Engine driven clockwise
curcent at the current current at the current current at the current current at the current shaft end side. Switching
nominal value W+ and V-). nominal value (W« and ¥-). nominal value (W+ and ¥Y-). nominal value (W-+ and V-1, signal ¥ is in phase with FEM
The shift is 90" electrical. Value in encoder memory is 205. Value in encoder memory is 1638. Value in encoder memory is 410. .
- Sheet : 2/2
i F |
Gengral  Pessine| 14/09/09 [ op | Vise IO}A/‘?)-/¢$| S0 |§/T —Ea—@' E X 8 O O Format EISIE
folerances {2 [aM 24578 310117 TD / Echelle A3 X | X%
DIN IS0 |E[B [AM 24108 22/04/13 SD 2.5 4 Bd Eiffel. CS 40090 0
2768 mK |8 M aM23306 10/12/09 SD D |aM 24677 270417 TO : R TN OU TL | NE D Q AW | N G 3[* [Fééa

V




	344487_EX3E
	344550_EX6E
	344619_EX4E
	344664_EX8E

